T&T6 2.1 Quadratic Equations October 01, 2014

Solving quadratic equations If ax?+bx+c=0,
then x = —P = VD> —dac
(ii) Quadratic formula : 2a

(Example 2 )

Solve x — 6 = % (Note: It is not always obvious that we are dealing with an
equation of the form ax? + bx + ¢ = 0.)
Mu.Lh'IoLz( by Led X* —bx =12
w4
pevtda is  fornai Xt —bx —d=o
aAx* + px ¥¢ =0 1
X = ~(gE JCo) U=
A=l a_ ()
b=-b
c=-% = *J2Criz = (248 - 6H4S3
> s 2
xl = 3 + J\Vj
X, = 34252

Solving quadratic equations (iv) Substitution
(Example 3 )

Solve x* +x2—6=0 for x € R.
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T&T6 2.1 Quadratic Equations

{ Example 4 )

October 01, 2014

Solve 2x + 3vx =5 for x € R.
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6. Solve 2x2—V3x—-3=0.
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